13.435

Grundriss Erdgeschoss

47.8]., 5.051 11%1;5 1.34 199'% 5,523 £ t
: Abst.mz \
A=1.13
WE 1 - 87,02m? + 5,95m? Terrasse = 92,97m? - 4 Raum Wohnung 2 x- o )
WE 2 - 59,88m? + 6,87m? Terrasse = 66,75m? - 3- Raum Wohnung o 25 K
WE 3 - 50,57m? - 2 Raum Wohnung 0
N
WE 4 - 55,25m2 - 2 Raum Wohnung = ? ;
WE 5 - 100,38m2 + 6,21m? Terrasse = 106,98m? - 4-Raum Wohnung )
% Schlafen i3
. A=14.88m2 z R
o WES 3
f ,’_%Ié 0%‘ Kochen/Wohnen
&8 "
L, &
[ 5
Kind 1 &&= £y
A=14.61m2 ;l\)
2w
i 5
% :
N 5.30 5.10 .
1] 1
[ L]
‘ Terrasse Terrasse IT
%. g . 11,90m2/2 A=13.75m2/2 % Flur
! J _j_ A=12.80m? ;?
: =£ | = T [ T
37— | | : BRA 85cm ﬁcm A e D
| e o 5
[ — — Bad i
A=8.09m2 ®
] Wohnen/Kochen Bad @ Q}) 3
Wohnen/Kochen e e (:A-Toiggmz
A=30. 37m2 ‘ j '
5 Tl Schlafen - I | g'z | éE i 21.'\311 ’
D = o L, ;
. : H H (w2 e EC
<3 35 A=5.67m? =
|| f )
= O0o]— ersorgun ™~
S = LOWET e e | e o e
o - . WE4
|1 $ 5
8 Bad 0| — 0] — - - ;‘g
< A=9.79m2 . 83 83 76 8% ) ws &
N -z a=1.4sm2 2.0/ WE3 201
gl . em?
L b L] s '* e
T s |
7Q | Q* B @6 E?.imz (] Wefnen/Kochen &
© Schlafen Ki”dmz = HH D | g
: A=15.47m? A-9.37 — ®
_ anpnr o o C
N | BRH 85cm : | BRH 85cm | — | | I cm I [ BRH 85cm | I BRH I | BRH 85cm I BRH 85cm | [ BRH 85cm |
i | L ﬁd — m — - s Wohnflachen
4.9 . 5.32 R4 2.171 [J-'|/=|/i|/l/I 2.50 24 2.30 A 6.718 L 2.93 + 4I/ 4.499

16.06.2017



